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Attempt any four of the following : (6x4=24)

(a) (i) Let Y =10KL - yK-/L and K = 0.2t + 5

and L = 5¢%!*, Express the rate of change of
Y as a weighted sum of the relative rates of
change of K and L. Can you attach any
economic significance to the weights?

(i) Let r = r(x,y), x = x(s, t) and y =

y(s, t).
Given that

x(L)=2,  x/(1,0)=—1], x5(1,0) = 7,

YO)=3, y()=0, yi0)=4
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r(2,3) = -1, r1(2,3) =3, r1)2,3)=5

ri(1,0) = 6, r(1,0) = -2

—

or
Calculate -a_t at s=1, t=0.

(b) Given f(x,y) = In /x> +y* -

(i) At (1,0), in what direction does f increase
most rapidly? What is the rate of change
in f in that direction?

(ii) Find an approximate value for £(1.01,0.02).
How large is the error caused by this

approximation‘?

(c) @ Given f(x, Xz X)) = Xy Xy X3 x,. Is f
homogenous? Is it homothetic? Are the first

order partial derivatives of the function
homogenous and if yes of what degree? Show

1 1 1

that V= (X, X3 - x —_— |
( 1 2 n) xl X2 xn

(ii) Suppose that f(x, y) is homogenous of degree
2 with f}(2,3) = 4 and f3(4,6) = 12. Find
£(6,9)-

P.T.O.
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(d) The following system of equations defing,
u = u(x,y) and v = v(x,y) as differentiap]q
functions of x and vy around the POint

P=(xy,uv)=(,1,1,0):

(u + 2v)° + xy* = 2u — yv

(1 + u2)3 - 22y = 8x + y’w?

Differentiate the system and find the values of u’,

[ !
u, v, and Vy

}-!

zX
(x+y2) ’

determine whether the function f increases

(e) (i) For the function, f(x,y,z)=

or decreases at a specified point P, = (1,1,1)
when one variable increases, while the others

are fixed.

(i) Assume that the equation e®’—2x —4y=c
implicitly defines y as a differentiable function
of Xx. Find a value of the constant ¢ such that
f(0) =1 and find the slope and the equation
of the tangent at the point (x,y) = (0,1).
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(i) ¥ T r = r(x,y), x = X(s, ) Wy = y(t) | @
g3l 2

x(1,00=2, x!(1,00=—1, x(1,0) = 7,
y(0)=3, y(1)=0, y(0)=4
1(2,3) = -1, r(23) =3, 1(23)=5

r(1,00 =6, 1)(1,0) = =2

K
ar at s=1, t=0 N AT HiA |

(@) et fear mar we : f(x,y) = ln,/x2+y2 I

(i) Oe £ g oon ¥/ (1,0) W fhe Ram F sean
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2. Attempt any four of the following : (7x4=28)

(a) Consider the function f(x,y) = x2 - y? - xy — x3,

Find and classify its critical points. Find the domain

S where f is concave and find the largest value of
finS.

P.T.O.
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(b) State the necessary conditions for the solution of

2
the utility maximization problem, U(x,y)= (\/; + \/;)

for general values of p,, P, and M. Find the optimal

values of x, y and the corresponding value of A

(the langrange multiplier). What are the consumer’s

demand functions for x and y? Find the indirect

ufility function U*(p,, P, M) and verify that
ou’

Nt
oM

(c) Find the extreme points and extreme values for

f(x,y) = xe¥ — x*> — ¢ on the domain defined by
0<x<2 and 0<y<1.
(d) The function f(x, y) is such that
Firstly, f! > 0, f; > 0;
Secqndly, fo, <0, f;; < 0; and
Thirdly the level curve y = g(x) is defined implicitly

by f(x,y) = ¢ where ¢ is a constant. The function

f is such that all level curves are strictly convex.
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(e) Let f{x.¥) = (x* — axy)e" be a function of two

varizbles with @ as & constant and @ =Q.

-

(1) Find the critical points of f and decide for
each of them if it is & local maximum point,

local minimum point or a saddle point.

(1) Let (x*,v*) be the critical point where

X*=0 and let f*(x) = f(x*.v*). Find

ot ((1) and show that if we define
da
' . | &f(x"v' .
f(x.)*,u)=(x‘ —axy)e* then ( = )=
df" (o)
do

P.T.0.
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Attempt any one of the following : (7x1=7)

(a) To feed his stock a farmer can purchase two kingg
of feed. The farmer has determined that the herd
requires 60, 84, and 72 ur.u'ts of the nutritiong]
elements A, B, and C, respectively, per day. The

contents and cost of a kilogram of each of the

two feeds are given in the following table :

Nutritional Elements
(units per kg)

/ A / B / C / Cost(Rs.perkg)

{ Feed |

3 7 / 3 / 100

Feed 2

2 2 /-6' / 40
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(i) The farmer wants tO determine the lanzt
expensi\.fe way of providing an adequate djet
by combining the two feeds. Set this up as g

linear programming problem and find the

minimal-cost diet,

(ii) Does the optimal solution change if the price
of Feed 1 increases from 100 Rs per kg to
140 Rs per kg, with all other data unchanged?

(b) (i) Solve the following problem :

3x+2y<6

+ :
max 3x + 4y s:ubject to {x+4y$4

x20, y>0

(i) Compute the increase in the criterion function

if the first constraint changes to 3x + 2y < 7.

(iii) Compute the increase in the criterion

function if the second constraint changes to
X+4y <5,



]
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(iv) Prove using (ii) and (iii) that if (x,y) i
feasible in the original problem then the
criterion function can never be larger than

the optimal value of the criterion function

obtained in (j).
ﬁﬁﬁ»‘rﬁa'a A A S g @ g QR
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Attempt any two of the following : (8x2=]¢)

(8) (i) Find the area of the region between the

curves: v, =3x°—6x+8 and y, =-2x"+4x + |

from x=0 to x=2.

(ii) Show that y(t) = 2e® + 1 is the solution to

r

the differential equation ﬁ = 6y — 6 where

y(0) = 3. Does y(t) converge to a steady
state? x (4.4)

(b) (1) Let the rate of investment be given by the

function, I(t) = 12t'3. If K(0) = 25, find the
time path of capital stock. Find the amount

of capital accumulation-during the time

interval [1,3].
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30 iy The demand and supply funcyj,

in the
market for a commodity are glven by

- — P
th—4

t-

It

Q, =1+ O.SPH
S

Q, and Q-are the quantity demande
dt

d and .
quantity supplied of the COmmodity at ¢

ime t,

(¢) (i)

Find the general solution of the differentia]

P.T.O.
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(ii) Given that:
C, =90 + 0.8y,
I =50
Y, = 1200

Y, C, and I, are the national incom,

consumption and investment at time t. Fipq

the time path of national income, Y,. Commem

on the stability of the time path. (4,4)
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(M () ¥R T (R T@ave) . P = §[D(P) -
S(P)] =1 9M W Ww & WEl 6> 0 =
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(i) fear ar 2
C, =90 + 0.8y,
I, = 50
Y, = 1200
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Attempt any four of the following : (6x4=24)

(a) (i) Let Y =10KL - yK-/L and K = 0.2t + 5

and L = 5¢%!*, Express the rate of change of
Y as a weighted sum of the relative rates of
change of K and L. Can you attach any
economic significance to the weights?

(i) Let r = r(x,y), x = x(s, t) and y =

y(s, t).
Given that

x(L)=2,  x/(1,0)=—1], x5(1,0) = 7,

YO)=3, y()=0, yi0)=4
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r(2,3) = -1, r1(2,3) =3, r1)2,3)=5

ri(1,0) = 6, r(1,0) = -2

—

or
Calculate -a_t at s=1, t=0.

(b) Given f(x,y) = In /x> +y* -

(i) At (1,0), in what direction does f increase
most rapidly? What is the rate of change
in f in that direction?

(ii) Find an approximate value for £(1.01,0.02).
How large is the error caused by this

approximation‘?

(c) @ Given f(x, Xz X)) = Xy Xy X3 x,. Is f
homogenous? Is it homothetic? Are the first

order partial derivatives of the function
homogenous and if yes of what degree? Show

1 1 1

that V= (X, X3 - x —_— |
( 1 2 n) xl X2 xn

(ii) Suppose that f(x, y) is homogenous of degree
2 with f}(2,3) = 4 and f3(4,6) = 12. Find
£(6,9)-

P.T.O.
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(d) The following system of equations defing,
u = u(x,y) and v = v(x,y) as differentiap]q
functions of x and vy around the POint

P=(xy,uv)=(,1,1,0):

(u + 2v)° + xy* = 2u — yv

(1 + u2)3 - 22y = 8x + y’w?

Differentiate the system and find the values of u’,

[ !
u, v, and Vy

}-!

zX
(x+y2) ’

determine whether the function f increases

(e) (i) For the function, f(x,y,z)=

or decreases at a specified point P, = (1,1,1)
when one variable increases, while the others

are fixed.

(i) Assume that the equation e®’—2x —4y=c
implicitly defines y as a differentiable function
of Xx. Find a value of the constant ¢ such that
f(0) =1 and find the slope and the equation
of the tangent at the point (x,y) = (0,1).
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(F) (i) T ARA Y = 10KL - VK =L TK=020+5

AR L o= 5e0l, Y ¥ uRae & & @ K 3k L
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(i) ¥ T r = r(x,y), x = X(s, ) Wy = y(t) | @
g3l 2

x(1,00=2, x!(1,00=—1, x(1,0) = 7,
y(0)=3, y(1)=0, y(0)=4
1(2,3) = -1, r(23) =3, 1(23)=5

r(1,00 =6, 1)(1,0) = =2

K
ar at s=1, t=0 N AT HiA |

(@) et fear mar we : f(x,y) = ln,/x2+y2 I

(i) Oe £ g oon ¥/ (1,0) W fhe Ram F sean
27 39 R ¥ f ¥ qRad = = = B7
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2. Attempt any four of the following : (7x4=28)

(a) Consider the function f(x,y) = x2 - y? - xy — x3,

Find and classify its critical points. Find the domain

S where f is concave and find the largest value of
finS.

P.T.O.
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(b) State the necessary conditions for the solution of

2
the utility maximization problem, U(x,y)= (\/; + \/;)

for general values of p,, P, and M. Find the optimal

values of x, y and the corresponding value of A

(the langrange multiplier). What are the consumer’s

demand functions for x and y? Find the indirect

ufility function U*(p,, P, M) and verify that
ou’

Nt
oM

(c) Find the extreme points and extreme values for

f(x,y) = xe¥ — x*> — ¢ on the domain defined by
0<x<2 and 0<y<1.
(d) The function f(x, y) is such that
Firstly, f! > 0, f; > 0;
Secqndly, fo, <0, f;; < 0; and
Thirdly the level curve y = g(x) is defined implicitly

by f(x,y) = ¢ where ¢ is a constant. The function

f is such that all level curves are strictly convex.
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(e) Let f{x.¥) = (x* — axy)e" be a function of two

varizbles with @ as & constant and @ =Q.

-

(1) Find the critical points of f and decide for
each of them if it is & local maximum point,

local minimum point or a saddle point.

(1) Let (x*,v*) be the critical point where

X*=0 and let f*(x) = f(x*.v*). Find

ot ((1) and show that if we define
da
' . | &f(x"v' .
f(x.)*,u)=(x‘ —axy)e* then ( = )=
df" (o)
do

P.T.0.
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Attempt any one of the following : (7x1=7)

(a) To feed his stock a farmer can purchase two kingg
of feed. The farmer has determined that the herd
requires 60, 84, and 72 ur.u'ts of the nutritiong]
elements A, B, and C, respectively, per day. The

contents and cost of a kilogram of each of the

two feeds are given in the following table :

Nutritional Elements
(units per kg)

/ A / B / C / Cost(Rs.perkg)

{ Feed |

3 7 / 3 / 100

Feed 2

2 2 /-6' / 40
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(i) The farmer wants tO determine the lanzt
expensi\.fe way of providing an adequate djet
by combining the two feeds. Set this up as g

linear programming problem and find the

minimal-cost diet,

(ii) Does the optimal solution change if the price
of Feed 1 increases from 100 Rs per kg to
140 Rs per kg, with all other data unchanged?

(b) (i) Solve the following problem :

3x+2y<6

+ :
max 3x + 4y s:ubject to {x+4y$4

x20, y>0

(i) Compute the increase in the criterion function

if the first constraint changes to 3x + 2y < 7.

(iii) Compute the increase in the criterion

function if the second constraint changes to
X+4y <5,
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(iv) Prove using (ii) and (iii) that if (x,y) i
feasible in the original problem then the
criterion function can never be larger than

the optimal value of the criterion function

obtained in (j).
ﬁﬁﬁ»‘rﬁa'a A A S g @ g QR

(F) & fha s wie = swy & g 9 TR & IRy
(Fle) @AT Fohar 31 fraer 3 FuiRa fear @ & oy
FHE N AT wam: Qv e A @ 60 T, B 9
84 TMFE R C & 72 g & Ezgehdr Bl 81
W%aﬁ#ﬁnﬁeraﬁtﬂmﬁﬁﬂ%ﬁaﬁ

afereeT A & TE 2

Qs 9
(afe wfr frel)
A B C wnTa (¥ "ia feher)

I LU | 3 7 3 100

qrT 2 2 2 6 40
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(i)m?%ﬂﬁﬁﬁamqﬁqmmwm
mﬂmmmmm%lﬁ
v W W (A S e @
¥ e R A A AN MR (wre)
cad

(ii)uﬁmﬁ1ahaﬁﬂaloom&wﬁrﬁﬂww%w
140 ¥4, W0 e & o ® 3Rk o e e
FuRafda ® €, T F ToeaH G (TR
Aege) Seer B 7

e

@) (i) FefRea @ (dem) & qee W

3x+2y<6
CIBEEL] @hﬁ)3x+4yﬂﬁ*{x+ y=

x+4y<4

xZO,YEO

(ii) afe wEeh wen (HE.CH) 3x + 2y < 7 ¥ 9 S
2 A W (FEeReA) wew ¥ gfe &t o

(iii) af® @Y s (FRE) x+4y <5 A S W
2 & W (wrEeRad) wer ¥ gfe @ e

| e B0
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(iv) TR (x.y) T 70 T 99 2 W TRE o
(q". EiCE ‘i'fqa'-t-l) &5 W (i) ¥ Wy s
icin1 ( Emh ‘nqam) E:':? AN «in % ":i'g']‘ 52
T w8, T (i) 3k (iii) = SW@E = R
ol
Attempt any two of the following : (8x2=]¢)

(8) (i) Find the area of the region between the

curves: v, =3x°—6x+8 and y, =-2x"+4x + |

from x=0 to x=2.

(ii) Show that y(t) = 2e® + 1 is the solution to

r

the differential equation ﬁ = 6y — 6 where

y(0) = 3. Does y(t) converge to a steady
state? x (4.4)

(b) (1) Let the rate of investment be given by the

function, I(t) = 12t'3. If K(0) = 25, find the
time path of capital stock. Find the amount

of capital accumulation-during the time

interval [1,3].
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30 iy The demand and supply funcyj,

in the
market for a commodity are glven by

- — P
th—4

t-

It

Q, =1+ O.SPH
S

Q, and Q-are the quantity demande
dt

d and .
quantity supplied of the COmmodity at ¢

ime t,

(¢) (i)

Find the general solution of the differentia]

P.T.O.
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(ii) Given that:
C, =90 + 0.8y,
I =50
Y, = 1200

Y, C, and I, are the national incom,

consumption and investment at time t. Fipq

the time path of national income, Y,. Commem

on the stability of the time path. (4,4)

Hfafaa & § foh=el o & I <l :

@) () Fh: y,=3x2—6x+8 AR y,=-2x2+4x+1
d9, x=0F x=2, 95 D 8T =T ATFT 75
FIRT | }
(i) g & o y(t) = 2e% + | FR g (R
FHAI) '%._=6y—63iﬁy(0)=3 T AL
2 17 y(t) R (W) saen % gRafda ()
Brar 27
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@ (i)m;ﬂﬁﬁﬁ%ﬂaﬁam (Werm) It~
g @ T BAR K(0) = 25 F g

Oy = 4 — P.
Q, = 1 + 0.5P_,

thaﬂthttha@aﬁmaﬂta@ﬁ
e 2, W P, W A v e ¥
dqet ¥ P, & fow = P & W (<) H
A | R (FRERT) S T
(ﬁqﬁ'ﬁgﬁsﬁ)aﬂﬁﬁmlwmﬂﬂf
w(ww)qﬁam(ah@@)/ﬁ?aﬂ‘f(m
A s s (Fwie) / T (seic)
%?qa;maﬂmﬁmm%ﬁﬁwﬁwﬁl“
ﬁmza?u
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(M () ¥R T (R T@ave) . P = §[D(P) -
S(P)] =1 9M W Ww & WEl 6> 0 =
T o W WA (Reiz) D(P) = a - bP 3K S(P)

(i) fear ar 2
C, =90 + 0.8y,
I, = 50
Y, = 1200
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1. &&Aricﬂy explain the “uses of private savings™ j,
e

the economy. (4)

(bY A bond promises to pay 600 in one year

(R(What is the interest rate on the bond if its

price today is 400?

(H{ If interest rate is 10%, what would be the

price of bond today? (4)

(9) Using IS-LM model, show the impact of investment
subsidy to the economy. How will it affect
interest rate, income & investment in the economy?

How 1s it different from expansionary fiscal

policy? (7)
() Idegaenr ¥ ‘Pl w99 @ S@RT @ W@ ¥
LEi ‘
(F) meaﬁﬁboomwaﬂ%mmm

2
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3
(i) i G S o 94T B dfe Tl i JTST 400

37
(i) @R =a =) 40%%,%31@31?&%6%@@

BN ?
(@) IS-LM WHied & AR &Rq Y, AT W e

TS & wwE =1 RE]| a8 Jdas A | ), AT
ﬁtﬁ%ﬂﬁ%ﬁuﬁnﬁaﬁn?ww_mﬁéﬁ

Sy ¥ frw yEr e 27
22. (a) Given the following information : (5)
Investrﬁent (D = 50
Government Purchases (G) = 40
GNP _ . = 500
CA Balance | = =20
Tax (T) = 100
Transfer Payment (TR) = 30
Interest Payment on government debt = 20
= -5

Net Factor payments from abroad
PUIERD.
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Compute .

%87 GDp
& Net Export

@ Consumptjop
(&P Private Savingg

-
(y_‘)/Govemment S

(> Selgniorage is first an Increasing

avings

function then a

decreasing

function of nominal money growth”.

(4)

Do you agree? Explain.

(€) What is full employment budget surplus? How is
it different from actual employment budget

surplus? Row does a decrease in MPC affect the

budget surplus?

(4)

(/d') “An increase in Government spending by $10 leads
to fall in the budget surplus exactly by $10”, is

this statement is true or false. Explain. (2)
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fam (1) | = 50
W @T (G) = 40
SIeTR . (GNP) = 500
A, A | = -20
*T (T) | - 100
TR R (TR) _ ~ 30
WEHN HT R AT WA = 20
Rew @ yo wrw pw = -5
AT Fifor

(i) @ oy e
(i) w= Fufa

(iii) i

(iv) ﬁtr?raaa_
(v) W www

(9) “Seigniorage TE Ta Tewl TN FE 2 MR AT o
gfg & Uear w7 W Y qehd 7 ||

P.T.O.
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| FrafaE ASHR
(|) “ﬁmmmw%?m

o st A frg wER P 27 TR { R T

SRRy F BY ol B 87

(x) ‘o = ¥ $10 @ 3 A Tow AT F 510 A
w0 W 27, aE wo @8 2 A1 T Bl wHAEA|

3. @ India issues 10,000 cr. debt forgiveness to one of
its neighbouring country. How is this transaction

accounted for in the balance of payments of India.
3

4‘{) How does hyperinflation affect economic activity

of a country?

)

What do you understand by Policy mix? In an

economy, illustrate the effects of a policy mix on

equilibrium output and interest rate. How the

monetary accommodation of fiscal expansion

leaves the interest rate unchanged as the level of
Output rises? Explain,

(7)
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() WRA 10,000 T A PR B IO R WA A
TE FY T AE NRE DA g A 39 A-oA
= A - DY AT W 2

(@) s R R W A s TR oA
TIfad a8 7

(@) R P ¥ e = e §7 UE S |, Gge
IAET IR I R R AR B & o & e
=y ﬁé-ﬁmwwm%,mﬁqm
=1 AR TR = R FRafda =4 Sigar 27
LLEIESH |

4, Mat is GDP deflator? How is it different from

' CPI1 dleﬂator? How does CPI inflation overstate

the cost of living? 4)

(l?/What.is the demand for Central bank money?
Using appropriate diagram explain the equilibrium
in the market for central bank money. How does

a decrease in the supply of central bank money

affect its equilibrium? (&)

P.T.Q;
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(fGiven: c =08(1-1Y
/ t=0.25

1= 900-201
G = 800
L = 0.25Y - 501

M/P = 500
Find

‘H{Find equilibrium level of income &

Consumption.
®\Calculate budget surplus at equilibrium.

(@\If govt. spending increases by 200 how

much would be the new level of private

spending. | : (6)

(37) GDp fRwiex @1 27 78 Pl Redex ¥ e e v
27 Waé@wﬁﬁﬁa#waﬁmaﬁﬁaa
i 27
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(@) ¥ I S A A W T 27 I R A
TR G R A @ D T TR X g o
M T ¥7 D W N g ¥ w0 IeD Gge
RN B TR w27

(|) fear mr 2
C=08(1-1) Y
t=0.25
I =900 -20i
G = 8.00
L= 0.25Y - 50i

M/P = 500
AT i
(i) m'aﬂ?wﬂnaﬂﬁgawwmaﬁf&m
(ii) W W e SR @ e aw)

(iii) m‘muaﬁzoo%ﬁm%,ﬁaﬁaﬁaﬂ
T = e g

BILGn
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5. (a) Consider an economy whose real GDP is 50 b
time period 1 and 6000 in time period 2. The GDp
deflator for the same economy is 105 in time Periog

1 and 120 in time period 2.

/A{ What is the nominal GDP in time periog |

and 27 |
Wt is the rate of inflation in time periog
27

(iiyTf the real rate of interest in time period
is 4%, what is the nominal rate of interest

in time period 27 3)

Why is central Bank money is also called High
Powered Money? Explain using the concept of
| multiplier. Assuming that money multiplier is 7 and
overall supply of money is 35000, what will be the

central bank money? : ~ (5)

(f‘ Explain the relationship between effectiveness of

monetary policy & interest elastiéity ‘of money

demand using diagram., (4)
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Assume a mode] of the expenditure sector Wwith
N0 8OVt sector. If the savings function is defined
as $ = -4(0 + 0.2y, and the autonomous investment

increases by 200, by how much will consumption

Increases? (3)

() v R s e % e s
3t 13 5000 Ak T ER 2 ¥ 6000 31 I

e 3 oy % R e oy 13 105 ok
R 2 ¥ 0 3

(i) mmlaﬂuﬁwma}q\m
w0 37

(i) TS 2 ¥ R 9 a3

(i) uﬁm’m&.zﬁmﬁamaa%é,
W 2 ¥
¥ -

AT W o

P.T.0.
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() ¥ ¥m W R wrd T T [ A2
'ﬂma;aﬁ" Wmmgwlwmﬁ
o o e 7 # o T R o 35000

2, T v < @ w7

(®) AR MM A o Sk [ R T AR =
I D N WY W IRE o IR TS W

Exd

(¥) BT = 87 9 =@ &9 = s Hied W o 3R
TG BT @ S=-—400 + 0.2y T ¥ IRWIRE faq
W B, Sk wmw AW ¥ 200 & gfe O 2, @
Td ¥ fret gfe Ene

6. (a) Differentiate between intermediate and fina
goods. Under which category are Capital Good

and inventory investment included and why?

(b) Suppose that money demand is given by Md¢ ="

(0.25-i) where income ijs 100 cr. And supply o
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money 1s 20 cr. Assime equilibrium in money

market

(1) What is the interest rate?

(1) If central bank increases interest rate by
5%, what should be the level of money
Supply for the money market to be in

equilibrium, S

(c) Examine the impact of a contractionary fiscal

policy on output & interest rate under two

assumptions ;
(i) Interest rates are kept constant
(i) Money stock i‘s kept constant (7
() wodl SR sl wE R A sen WMo T
I T Frdw = g A ¥ e R T @ sk
7 .
(7) == i R & R W e = (0.2541) TR

ﬁ%aﬁmmowﬂs%laﬂﬁ%ﬁmzoaﬁg
B & SR ¥ G WY

P.T.O.
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(i) = ® Fw BT

(ii) uﬁa‘@aﬁ'ﬁﬁmaﬁs%ﬁqﬁ;m%,
ﬁwmwﬁwﬁﬁ%mwmﬁ
&1 T 9 B Ael

- (|) 2 WS & dEd IR 3R N W W T HehE

TS Ay @ W @ e R
(i) e T @ R @ o 8

(ii) T e for @@ W 8

7. (a) A factory owner purchased 5 new machines at
Rs. 30,000 each. He sold his old ones for
Rs. 60,000. What is the net impact of thesg

transaction on GDP? (2

(b) What determine output and employment in th

classical system? What role does the aggregat

- demand have in determining output, employmen

and price level? (7
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() = R

%‘ﬁiﬂiaima*S%’ﬁﬁﬁ = .%’

o afe :

. awm%@ﬂwﬁ%mﬂﬂmﬁ
&7 =R a B Awgl

e e

(®) amﬁﬁmwaﬂ‘m-ﬂ“
i AR F T AR

() = = R e o E

(i) @ whw T w2

7. (a) A factory owner purchased 5 new machines at
Rs. 30,000 each. He sold his old ones for
Rs. 60,000. What is the net impact of thesg

transaction on GDP? ! (2

(b) What determine output and employment in th

classical system? What role does the aggregat
- demand have in determining output, employmen
and price level?

780
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(¢) Explain how each of {
monetary base, mons

supply.

(i) Central bank

market operati

(i) If there is an
money that pe

than deposits.

(37) & FREm @ wfe
TN =X 3wy 3
%ﬂﬁmlmtﬁq
w R?

(¥) =T woned ¥ 3ay
JEEH, ISR 3R
N vl 27
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(c) Explain how each of the following cvents affect

monetary base, money multiplier and money

supply.

(i) Central bank follows expansionary open

market operations..

(ii) If there is an increase in the amount of
money that people hold as currency rather

than deposits. ‘ (6)

() TF FREM H ok ¥ 30,000 TR YAE W 5 TS
T WA IET JT [ A H 60,000 T X
a9 oA I R IWE W S e 1 TE T

1 87

(F) T ol ¥ Jeed N AR wr FHeiRa w27
JAET, YR AR 70 &R FuiRe @ & 5o 7w
T R 27

(8) =ai f& FeffEa § & we ge difds MR, o
T AR E A DY il R

P.T .0,
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(i) Aw ¥ AERT GF TR & q=@@ A
HTEOT A B |

(i) afR A & W@ W AW D T T D T
¥ @ wE oy ¥ 9 A R

(5000)
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2. a¥ft v AR
3. ity R 3w w2

4. T -9F IR N 1 B frdt ver o ¥ At S
T I T AW vE D B =R |

1. (a) Explain the different approaches to industrial

relations. What are the principles of good industrial
relations?

(b) What are the roles of government and judiciary in
Industrial Relations?

OR

(a) Explain the changing dynamics of the industrial
relations scenario in India brought about by the
globalization and liberalization of the economy.

Elaborate on the pre-requisites for good industrial
relations.

(b) Explain the system approach to the study of
industrial relations.

(F) steifires Fael & RV et & =man HRw
=3 sl wEe B Rt ww 27
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3

(@) sl el § WHR 3R =aauiferst & w1 AT
37

qin

(%) arfeaen & Jeder 3R JTRH & HRO RS A
sinfirer Geth & qRgyd & weerdl oo St ARl
AR I i Gael & g 7d - sTeweast «
R ¥ @)

(@) siifier w&el & snage & fog women gfewmior =il
AT hifoig |

(a) How strikes and lockouts are two powerful
weapons both in the hands of employees and
employers under the Industrial Disputes Act, 19477
Compare the elements of strikes and lockouts.

(b) Explain the causes, consequences, and procedures
for the settlement of Industrial Disputes in India.

OR

(a) When a majority votes in favour of a strike or
lock-out, must there be a strike or lock-out?
Whether a notice is necessary before declaring
strike?

P10,
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(b) Describe the meaning and role of Conciliatiop With
example. What are remedies available tq workers
if conciliation process fails to reach tq any

acreement?

() ddfe fer i, 1947 & 959 RS sk

A A B T ¥ TIA AR TS A AREIS:

FER A7 27 Tee AR A @ aed @ geE
EAE

(@) e ¥ shedfrn e & Peer & Fwol, R sk
A N e R

ar

() m@ammm%wﬁwm%,

a}wmmammﬁﬁw%q?wmm
T W WS AT I s 22

(@) maﬁaw%maﬂrwWwﬁﬁm
wﬁwmmaﬂgﬁ%m@ﬁﬁmmﬁ
%a}aﬁﬁa}ﬁvwmm%‘?

3. (a) Explain the settlement machineries avaj

the settlement of Industria] disputes in |

ndia under
industria] Disputes Act, 1947,



5
872 '

Can an employer file 4
(b)

grievance f the Unigp, is

not complying With the agreement? Seripe in

detail the five-step SMevang, handling procedure

OR
(a) “Preveny;y, achip 'Y ha been St yp With
VIEW 10 ¢re € hapgy, Nioyg lations In the induslrial
€Ctor gq that isp les gq Ot arjge » OMmeyy,
(b) What happens durj g negotiat1o , an CMploye,
nd a trade on anng Bree o terms ¢, be
Ncludeq in Collectiy, Cemento ecollective
g Cementg legally enforceable‘?

» A Fram
aaﬁ'wmmﬁgfiﬁww
(=) “aﬁﬁmm“gmﬁmm“
RERSILE
EQised

P.T.O.

——

Sl sl
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(m)wﬁm%,wmﬁiﬁﬂ%aﬂ#,ﬁﬁwaﬁza—g
qﬁwwﬁmﬁ%ﬁmﬁﬁaﬁaﬁaﬁﬁm
Wqﬁaaﬁ??wwfﬁﬁmzﬂ%aﬂﬁm

%an;aﬁ?rzﬂwz??
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(a) Distinguish between discipline and Indiscipline in
industrial relations. What are the causes of

industrial indiscipline in India?

4.

(b) The Industrial Disputes Act, 1947 provides for a
three-tier system of adjudication. Describe in detail

about labor court in the adjudication system.

OR

(a) Explain the economic objectives of workers’
participation in management. What are the different

forms of workers participation in management?

(b) Describe the status of trade unions in the recent
period with the new industrial scenario.

(%) aﬁeﬁﬁmmﬁ@maﬁta@mﬁﬂm%ﬁaﬁ?
FHIor| SR # S SFTAEAEAAT S FT HRT & 7
(@) sienfire faare sfefaw, 1947 =mafefaT & fBeda

TR W WEUE @Rl 21 miviE o ¥ s
EeE & 9] A fAmR ¥ av Hifvm

—————
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arerdi

3.%.5.3,' 6 AT
() ser ¥ e 1 st ¥ w0
w1 e oy @ e R

(@) Waﬂﬁﬁﬁ“@”%wmaﬁmﬁa—gw
A Rufy @1 T AT

5. (a) ‘The Industrial Disputes Act applies to every
industry and its various industrial establishments
irrespective of the number of workmen employed.”

Comment Can an individual raise an industrial
dispute?

(b) “Adjudication is not an ideal means of settling of
industrial disputes”. Comment. Which is the non-*

adjudicatory machinery for settlement of industrial
disputes?

OR

(a) “Arbitration is a voluntary method of resolving an
industrial dispute.” Explain. Describe various
authorities under the Industrial Disputes Act, 1947

with special reference to the settlement of
industrial disputes.

B.T.C.
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(b) What is Retrenchment? Explain the conditigp
precedent (o retrenchment and procedure for
retrenchment under Industrial Disputes Act, 1947,

) st R S S IE o 9w R
sirefires wiRtsHl W SR BT 8, o B PR sifarey
%t e fra ot BN Rt Fifee w w9 afey
siefires faare Ia1 wwar 87 |

(@) ‘=g fofa selfies ol & Feer & v sred
e T8 271 ool ARkw e e @ ey
% fay W-=fw 7 - 27

ar

(%) “amer R s faE W e w R o
Ao fify 217 = Hifw A e s,
1947 & TEd JfE faERl & AR & gy 4w
¥ fafe=r wifteon &1 Tl Ffifs

(@) et 71 27 Siefie fawe affmE, 1947 2 e
BT A @ I AR S i vl i = Hifwl

(200)



